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Quadratic Factors

202 4+5xr+3=0

322+ 1lx+6=0

202 =Tz +6=0

322 4+4r —T7=0
202 —9r —5=0
322+ 8r —3=0
5224+ 162 +3 =0
522 4+9r —2=0
T2 +5r —2=0
202 —2—10=0
322 —2—10=0
322 —x—2=0
202 —br —3 =10
2+ 3c+2=0
2+ 72 +12=0
22— 102 +21=0
22 -2 —15=10
22 —4r —12=0
202 + 11z +14 =0
2024+ Tx —15=0
322 — 11z —20 =0
T2 —23r+6=0
1122 - 192 — 6 =0
1322 +252 —2 =10
422 +8x +3 =0
622 + 11z +3=0

422 + 132+ 3 =0
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29.
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38.
39.

622 — 132 +2=0
422 — 11z —3 =10
622 —2—2=0

8z2 4+ 6xr —5=0
1022 —2-3=0
9224+ 22 —T7=0
622 —7x —10 =10
422+ 52 —-6=0
922 + 62 —8=0
8z —13x —6 =10
2422 +1—-3=0
1522 — 22 -8 =0
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